O F#ts (1 5 &F)

1cm

50cm

3

= = HI==+E 5 ° 7 3,y

o (it BEE | BATE | BAE | BAE | BOE | BARE | S RAEBH | R bR
1 |35 0.06 0.08 0.06 0.08 0.06 0. 08|35t 5
AEESZEIN 0.04 0.06 0.04 0.06 0.04 0.06|/GiZHR 5
3 |=AEFHINS 0.06 0.07 0. 06 0.07 0. 06 0.07|/5354b R, [R5 5
4 [ ETE—FHS 0.05 0.06 0.06 0.06 0.06 0.06|/5i5m 7 5
5 |HETFHIES 0.05 0.07 0.05 0.07 0.05 0.07|[RIZH R, LIGHEA 6
6 |BIsFHIES 0.05 0.06 0.05 0.06 0.05 0.06|/GiZHR 5
1 |PEFHES 0.07 0.08 0.07 0.08 0.07 0.08| /KiK., LiGiLE 5
8 |EHHHAFHILS 0.06 0.07 0.06 0.07 0. 06 0.08| Gz R, LiGiLEE 5
9 | "HHE_FHILS 0.05 0.06 0.05 0.06 0.06 0.06|/RiZ5mME., LG 5
78 FT T F B 515 0.04 0.06 0.04 0.06 0.04 0.06|/RiZmmE, LG 5

P E X5 0.05 0.06 0.05 0.06 0. 05 0. 06|55 5
EHIZI2=T 4535 0.04 0.05 0.04 0.05 0.04 0.05|/Ri5m A 5
BEII 1 =T 4L5 0.04 0.06 0.04 0. 06 0.04 0.06|/53ZmA Y Ot 5
TRIAZa2=T 45 0.04 0.05 0.04 0.05 0.04 0.05|/Ri5m A 5
INRFHRS 0.05 0.06 0.05 0.06 0. 05 0.06|[RiZH R, LG 5
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